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QUESTION 1

Kimf a technicianf is asked to run new cabling for an ofce that is 350 feet (107 meters) away from the networking
equipment. The type of cable being run is CAT6. Kim purchases and installs a 500 foot (152 meters) CAT6 cablef but
afer installatonf notces a weak signal between the ofce and the networking equipment. Which of the following would
have been the BEST to install instead of the CAT6 cable? 

A. Install two CAT6 cables with a repeater. 

B. Install a 500 foot (152 meter) CAT5 cable. 

C. Install a 500 foot (152 meter) CAT5e cable. 

D. Install three CAT6 cables with a repeater. 

Correct Answer: A 

 

QUESTION 2

A technician has resolved a tcket to fx a userns printer and has verifed that the user is able to print with no issues.
Which of the following acton steps should the technician perform FIRST? 

A. Document fndings and outcomes 

B. Establish a theory of probably cause 

C. Upgrade the printer drivers 

D. Close out the service tcket 

Correct Answer: A 

 

QUESTION 3

A technician has been called about intermitent connectvity near IDF 2. Multple cables were recently pulled through a
common conduit. Which of the following is MOST likely the cause of the problem? 

A. Crosstalk 

B. Bad connectors 

C. Wrong DNS 

D. Duplicate IP address 

Correct Answer: A 

 

QUESTION 4
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Which of the following OSI model layers is used for logical addressing? 

A. Physical 

B. Transport 

C. Network 

D. Data link 

Correct Answer: C 

 

QUESTION 5

Which of the following is MOST commonly implemented for remote access to UNIX systems? 

A. SSL 

B. RSH 

C. SSH 

D. RDP 

Correct Answer: C 

 

QUESTION 6

Lisaf a network administratorf needs to allow all websites to be accessible by the sales team for business purposes.
Which of the following ports need to be enabled on the frewall? (Select TWO). 

A. 23 

B. 25 

C. 53 

D. 80 

E. 443 

Correct Answer: DE 

 

QUESTION 7

In an environment with STP disabledf which of the following is the MOST likely cause of the exponental increase in
repeated packets transferred through the network? 

A. Incorrect subnet mask 

B. Mismatched MTU 
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C. Switching loop 

D. VLAN mismatch 

Correct Answer: C 

 

QUESTION 8

Kurtf a technicianf working remotely cannot connect to the database server. The server does not respond when he tries
to ping it. Kurt wants to determine which network device is preventng ping from responding. Which of the following
commands should he use to determine this? 

A. tracert 

B. nslookup 

C. dig 

D. ipconfg 

Correct Answer: A 

 

QUESTION 9

Which of the following protocols is used for remote management of devices? 

A. SNMP 

B. TFTP 

C. Syslog 

D. SMTP 

Correct Answer: A 

 

QUESTION 10

A user reports that one of their critcal programs no longer functons afer a recent router upgrade in the ofce. A network
technician is called in to troubleshoot the issue and documentaton shows that the sofware needs full open connectons
over ports 558f 981f and 382 in order to functon. Which of the following tools could the technician BEST use to
troubleshoot this issue? 

A. NET USE 

B. IPCONFIG 

C. TRACEROUTE 

D. TELNET 
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Correct Answer: D 

 

QUESTION 11

A patch cable terminated with one end as T568A and the other as T568B will create which of the following cable types? 

A. Crossover 

B. Serial 

C. Roll over 

D. Straight through 

Correct Answer: A 

 

QUESTION 12

Joef a network administratorf detects an existng 802.11g signal on channel 5. Which of the following channels would be
the LEAST likely to interfere with the existng signal? 

A. 1 

B. 6 

C. 9 

D. 11 

Correct Answer: D 

 

QUESTION 13

A network administrator is tasked with deploying a company-wide wireless system which allows for accurate tracking of
employeesn wireless device locatons via WAP triangulaton. Which of the following is the MOST important aspect of the
deployment? 

A. WAP placement 

B. TX/RX channel 

C. Signal strength 

D. Transmission power 

Correct Answer: A 

 

QUESTION 14
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Blocking a known malicious web address by using the ACL on the frewall is an example of which of the following? 

A. IP fltering 

B. Applicaton fltering 

C. MAC fltering 

D. Port fltering 

Correct Answer: A 

 

QUESTION 15

A small ofce needs to connect one new system to their network in a distant ofcef but does not have the resources to
install a new Ethernet wall jackf and does not want to use wireless. Which of the following is a simplef cost efectve
opton for providing connectvity? 

A. SONET 

B. Multmode fber 

C. 802.11n 

D. Broadband over Power Line 

Correct Answer: D 
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